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(a) Both argument |
and argument |l are
strong

T dd | 3T a®
UEECK

(b) Only argument | is
strong

EEEICEA RS G

(c) Only argument I
IS strong

EEEIE I C

(d) Neither argument
| nor argument |l is
strong

T AT deh | T2 e
UEECK

23 DAYS - HARD CHALLENGE (SSC)

Q.1 statement :/ I :Has globalization helped in the developme §
India?

T A THRTT & AT & A | 942 Fit g2

Argument :/ @& :l. Yes, since globalization measures were introduced in
the late nineties, India was able to achieve steady economic growth while
other developed economies were struggling with recession.

. BT, S SefahTor SUTAT T 7o F IUF & UG A F (6T T AT, ARA
fRux s i grfder + & T&w g 1T o1 Safs o= fawf¥a sreferawmg
Hal | oY T T AT

ll. No, economic growth does not merely result in increase in income. It
should also increase the welfare of the people. Even after 20 years of
adopting the measures of globalization, India is still there is also a large
percentage of poor people.

II. 1, e gig am o ®/ gig # 487 St 81 T/ A & wed1or | iy off
FAT ATl F=HTOT & IJUTAT &l ATAM F 20 T I ST AT | iy ot
T AT T Tk =T Ifaaa gl




25 DAYS - HARD CHALLENGE (SSC) {
Q.2 Which of the following numbers will replace ‘&

the question mark (?) in the given number series?

e & & &9 |41 9&41 < T2 §&dT1 Jadr |

TaTad e (?) F TaeATiad H3?

56, 68, 7?7, 128, 176,

a) 80
c) 74

236

b)116
d) 92
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25 DAYS - HARD CHALLENGE (SSC)

o L

Q.3 Select the correct mirror
image of the given combination
when the mirror is placed at MN
as shown.

RU 1T e Y g8t U S FT
FIT HITT ST 907 T MN 9T @7
T g, ST fF e =T )




25 DAYS - HARD CHALLENGE (SSC)

Q.4 Select the set in which the numbers are related in the sa ]

way as are the numbers of the following set.

9 9g FT 999 Hiog orad d=qre S g §9iEq § N T

aferfea aug & =1 8
(75, 25, 28) (136, 34, 38)

a) (27, 9, 15)
b) (45, 9, 12)
c) (55, 5, 11)
d) (105, 35, 38)
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Q.5 In a certain code language, ‘CAPON’ is written as
‘EYRMP’ and ‘DECOY’ is written as ‘FCEMA’. How will
'‘POWER'’ be written in that language?

T AT Fe 91T #, 'CAPON' %1 'EYRMP' i< 'DECOY' =
'FCEMA' &% &9 # for@T SITar g1 St e 99T § 'POWER' T F9
feraT STarT?

ﬁ_)> a) RQGDT  b) RMYCT
N c) RMWDT d) RNVDV




25 DAYS - HARD CHALLENGE (SSC)
" Q.6 Pointing to a lady in a photograph, Vijay said, “Her
sister's mother is the sister of my father’'s daughter.” How

is the lady related to Vijay?
T JEIC H T AigaT 6T 30T FATA HLd g, TS 7 T,
"IThT Fg ol ATAT, AL AT T AT & T8 51" T8 HigdT,
s @ fhe T Hefaa g7

a) Mother/qTar
b) Sister’'s daughter/sisit

c) Daughter/TH
d) Sister/dgT

o L




mark (?) in the given series
& IR gEAar § {9 § ¥ 9 I 9= wyarEs =T (?) @
ISR ETT

28, 40, 25, 7, 22,

46

a) 41
b) 43
c) 44
d) 42




Q.8 Select the mirror image of the given combination when

the mirror is placed at MN as shown in the figure./ feT 1g

TSI ht YT FiA T AT HO(T ST 2997 & MN 9T T&T 14T
g, ST o srarfar # faema 13 @)




25 DAYS - HARD CHALLENGE (SSC)

Q.9 Select the correct combination of mathematical signs to
sequentially replace the * signs and to balance the given equation.
fow g gHTRer iy Ggiera e & forg * At & wffs € 9 9599 & g
TiOrTr fRrEt & Tt SIS T 999 |

256*5*10*2*8 * 11




day of the week on 3 February 20197

Ti< 3 AT 2020 Y HIAATE 9T, AT 3 HLaL 2019 Fr THTG HT
I 91 o 971?

= a) Wednesday b) Friday
( ELD) c) Sunday d)Monday
S




25 DAYS - HARD CHALLENGE (SSC)

Q.11 Which letter cluster will replace the question mark (?) to
complete the given series?
< TS FEAT Tl IO A & (1T I G7 T TG THATAF (oe
GEIRINRUECETUL
ETRE, AZJG, WFBI, SLTK, ?

a) OPLM  b) ORLM
c) ORMM  d) OPMM

g
] . X




25 DAYS - HARD CHALLENGE (SSC)

" Q.12 A paper is folded and cut as shown below. How will =

appear when unfolded?/A= < T2 STHAFT A FIIST FHl HISHT
FTeA FT FHH [T T 1 T8 FES @l 9L 4T (k@18 97?2

(@)




25 DAYS - HARD CHALLENGE (SSC)

Q.13 Two different positions of the same dice are shown, the six
faces of which are marked as Ant, Bat, Cat, Dog, Egg, Fog. Select
the word that will be on the face opposite to the one showing 'Fog' /
T gt I Y Y reT-ere fRurfaat e 12 €, o & i, Twmeg,
fareett, T, ST, g A TG HA® JThd gl ST 63 FHT AT DT ST
IR aszﬁ%rmﬁrw%ﬁvﬁ-crwwgﬁw

7 7850 .
iz'jp\> a) Ant/<fi&t  b) Dog/ FT
= c) Bat/ s=@m  d) Egg/ SieT

—




25 DAYS - HARD CHALLENGE (SSC)

Q.14 In a certain code language, 'HISTORY' is written as —
'SRHGLIB’ and ‘RECORD’ is written as °IVXLIW'.How will

'ARCHIVE' be written in that language?

T s T wraT F, 'HISTORY' &Y 'SRHGLIB' % &9 § for@T Strar
g M 'RECORD' &1 'IVXLIW' % &7 # fer@T SITaT g1 S9 9TuT |
'ARCHIVE' &1 ¥ fer@T SiTasr?

a) ZIXSGEV  b) ZIXTREV
c) ZIXSREV d) AIXSREV
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25 DAYS - HARD CHALLENGE (SSC)

Q.15 Which of the following letter-clusters will replace the™
question mark (?) in the given series to make it logically

complete?

< TS FG@AT &l AT & F O g9 & fo¢ [Rafefaa
I AT - THATTF = (?) FT TTaeariud Fam?
WUT, RPO, MKJ, HFE, ?

i — /

T/

c)CZA  d) AZC

a) CAZ b)ACZ
(@)
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25 DAYS - HARD CHALLENGE (SSC) 1)
Q.16 Select the correct combination of mathematical sighs=

to replace the * signs and to balance the given equation.

* At 1 e sl g T giERr F g F:9 F

Il_-_-n-"'q.

TTora Rt F Tl SIS FT I iUl
96 *6 *24 *49 * 25

a)+, x, =, +

b) = -, =+

i -..-D\ >> c)—, + X, =
N d) x, +, =, =
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25 DAYS - HARD CHALLENGE (SSC)

.17 From the given answer figure, select the one in whicl™"
the question figure is hidden/embedded. / <t < ITR ArpiAAT

H 9 I I AR 1 Y Srad w1 srpia AR g

()




25 DAYS - HARD CHALLENGE (SSC)

Q.18 Select the correct combination of mathematical signs to
sequentially replace the * signs and to balance the given

equation.

R T wefiaen # dgfea wT % g * Rt 1 w0 = d
Fae % forg vt feet & wdt s &1 == At

57 *35*7*14*2* 34

a)+,+,—,><,=
b)X,+,+,—,=
C)—++>< —

d) +!_! X, oy =




25 DAYS - HARD CHALLENGE (SSC)

Q.19 Statement:/a<reT: _
(@) Neither assumption nor Students who have not submitted the record books will not be

assumption Il is implicit allowed to appear in the practical examination.

T A q@gEE T @igae | S e F R g% 5wt a8 fFg § S| yaite ader #
fAfta g SRS FARARREC LS LI

(b) Only assumption Il is implicit Assumption TaTTHTA :

g qEaiqa |l fAfga g |. Practical exams make the students technically strong in the
(c) Only assumption | is implicit subject.

hae gatqa | Rfga g |. ST T0ETd AT S aae e €9 9 e # werea a9t @l

(d) Both assumption | and Il are Il. Record book is mandatory for appearing in practical
implicit examination.

@A | s Il It Afda g 1. R T TrF 709 § 90T @9 & fog srfqar gl




25 DAYS - HARD CHALLENGE (SSC)

Q.20 Select the option that is related to the fifth term in the same way
as the second term is related to the first term and the fourth term is

related to the third term.

39 faFeq #T 999 T ST 994 98 9 9T IF K gai8q g, v g1
O IS, T8 9 9 3T 1T 98, T I8 § 918 g
DENIAL : IANDEL :: OBJECT : ECJOBT :: FLAVOR : ?

a) VOAFLR  b) OVAFRL
c) VOAFRL  d) OVFARL




Q.21 Select the option that is related to '”"'
fifth term in the same way as the second term
is related to the first term and the fourth term
Is related to the third term.

39 A%eq &7 999 Fifow ST Ti=e 98 9 9T
YT 8T g fore T O IS, I8 9% ¥ 3%
AT IS, T T 9 gafda gl YAR : RAY ::
TCA:ACT :: TAB:?

a)TBA  b) ABT
c)ATB  d) BAT




K 25 DAYS - HARD CHALLENGE (SSC)

Q.22 Select the Venn diagram that best illustrates the
relationship between the following classes./S® a1 @

T F99 HIoT ST FAEfetea S & 9 & 999 7 999

&7 9 90747 8
( g :--_ > King, Father, Queen

O




25 DAYS - HARD CHALLENGE (SSC)

Q.23 A paper is folded and cut as shown. How will it appear when
unfolded?/T FTRTST FT AIET STAT g X fIG@TT T SATHTT FTeT ATAT B
T g I I HY f_@Ts <72

oymEmEeyo
CANNYO
CANNMAQ

CLimmmdO

u?- _qﬂ

CANMMBAOC
OVEEEVO

OLAmmmm O

o L




25 DAYS - HARD CHALLENGE (SSC)

Q.24 Statement @<= :Should all annual examinations be%:™
discontinued at the school level up to class IX?

argument |l are strong. . .
aﬁg‘lfja?«ﬁ?«rlaﬁ'{a?«ﬁ?«rﬁmww“ T G AT HET T THT AT THEATT §F T AT AT T?
Argument: /3=

I
(b;%Neither argument | nor (i) Yes, it will provide opportunity to more-a
to get education at secondary level.

argument |l is strong
T & T | A T el | O A AAECTH

(a) Both argument | and

re.rural students

FEE (ii) No, it will not help the students to get college level education. '
() Only argument Il is () Tal, TG STAT I FicrsT €< Y FAAT SIS FLA § A -1 HeT

strong.

wa gt |l o gl

(d) Only argument | is

strong.

FAA AT | T &l




25 DAYS - HARD CHALLENGE (SSC)

Q. 25 How many triangles are there in the
given figure ?

&1 TS i | forae et 872
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